AISZ - ADVANCED SCIENCE — TRIG. RELATIONS

31°" SEPTEMBER 2011

Homework #2

Problem 1. (Rule of Pythagoras) Find the missing side of the triangle:
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Problem 2. (Ratios) If the two triangles are similar (meaning proportional), find the unknown side.

5

o //r

8



AISZ - ADVANCED SCIENCE — TRIG. RELATIONS 31°" SEPTEMBER 2011

Problem 3. (Ratios) Find the unknown side given the appropriate ratio:

a)
a=7cm
b)
b:
=
a="?
c)
c=19
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=
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Ratioofatocis1:2.5
Working:

Ratioofbtoais3:1
Working:

Ratioof btocis1:3.7
Working:

Ratioofatobis1.3:2.1
Working:
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Problem 4. (Sin, Cos, Tan functions) Find the unknown side.

a) b)

b=12 cm

a=9cm

b= ?cm
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